10.2 Notes: Solving Two Step Equations

What steps were done to "x" fo turn it into "5x + 2"?

X What steps do you think you
would need to do to turn
5x + 2 back intfo an x ?
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Practice:
What steps are needed to turn each of the following back into x?
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Solving Two Step Equations Solving an equation means:

'pfhdthb the value ok the
Var:a(o(b(f)

Follow the reverse order of operations
to isolate the variable on one side

X = 4
What steps were done to turn one
<5 xS line into the next line?
Bx = 20 How would you go backwards and
turn the last line back into the first
+1 42 line?

5x + 2 = 22



Examples: Solve each equation in two steps using reverse BEDMAS —
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Anna is holding a dance, and charges ever'ybody $5, except for Alvin, who gets a discount
and is only charged $2. If she collected $88; ho@mgwple.(o:hanihg@)_
attended the dance? Make up an equation and solve, showing all work.
LeT p BE THE WumBaL oF P@PLs (oTHOLTHAY presin)
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